

## **Ministry of Higher Education**

## Commonwealth Scholarships in the United Kingdom Masters Degree (IUL)475-Schol/475/2021/205

Qualified Applications to be nominated: 02

_	danne													1-1	ions to be nonlinated. 02
#	Reference No.	Gender	Highest Qualification	H	DN	CR	Ь	Fail	Total Points	Total no. of Units	Points Average	Served the require number of years (if trained under government aid)	Course Applied	College/Universit y Name	Current Application Status
															Nominated
			Bachelor of Science												
	SCHOL-		(Economics) with Honours/										MPhil in Finance and	University of	
1	2021/0277	М	UK / 2019	24	2				152	26	5.85	-	Economics	Cambridge	
															Nominated
													MPhil in Machine		
	SCHOL-		BSc (Hons) Computer Science										Learning and Machine	University of	
2	2021/0193	М	/ Malaysia / 2016	21	6	1			152	28	5.43	-	Intelligence	Cambridge	
			Bachelors of Arts												Qualified but not selected
	SCHOL-		(International Relations) /										MA International		
3	2021/0307	F	Azerbaijan / 2019	29	7	1	5		209	42	4.98	-	Relations	University of York	
															Qualified but not selected
			Bachelors of Arts (Politics										MSc in International	London School of	
	SCHOL-		and International relations) /										Social and Public Policy	Economics and	
	2021/0297	F	New Zealand / 2016	10	14				116	24	4.83		(Development)	Political Science	
															Qualified but not selected
1 -	SCHOL-	_	Bachelor of Early Childhood	4.5	4.5	_	_		46.		4.00		MSc Speech and		
_ 5	2021/0282	F	Education/ Maldives / 2017	18	13	1	2		164	34	4.82	-	Language Therapy	University of Essex	

															Qualified but not selected
	SCHOL-		BEng (Hons) Aerospace Engineering Design / UK /										MSc in Aerospace Vehicle Design (Aircraft Design	Cranfield University,	
6	2021/0254	М	2004	12	5	3	1		99	21	4.71	-	option)	Cranfield	
															Qualified but not selected
	SCHOL-		Bachelor of Civil Engineering										Water and Environmental	University of	
7	2021/0191	М	(Hons) / Malaysia/2018	24	23	5	1	1	247	53	4.66	-	Engineering MSc	Surrey	
			Bachelor of Civil Engineering												Qualified but not selected
	SCHOL-		(with Honours) / Maldives /											University of	
8	2021/0287	М	2021	21	9	6	3	- 1	177	39	4.54	-	MSc Coastal Engineering	Plymouth	
			Bachelor of Arts with												Qualified but not selected
	SCHOL-		Honours in (Accounting and										Financial Technology	Swansea	
9	2021/0301	М	Finance) / UK /2018	3	6	2	1		47	12	3.92	-	(FinTech), MSc	University	
													MA Digital Technologies,		Qualified but not selected
	SCHOL-		Bachelor of Commerce /										Communication and	University of	
10	2021/0305	F	India /2016	7	10	7	1		97	25	3.88	-	Education	Manchester	
			Bachelor's Degree in												Qualified but not selected
	SCHOL-		Business Administration /										Masters in International	University of	
11	2021/0255	F	Azerbaijan /2017	14	13	7	7		157	41	3.83	-	Business	Birmingham	
			Bachelor of Science in Security and Law												Qualified but not selected
	SCHOL-		Enforcement / Maldives /										Forensic Science (with	Teesside	
12	2021/0284	F	2018	3	9	6			66	18	3.67	_	Advanced Practice) MSc	University	
			Bachelor of Science Honours										Geospatial Sciences		Qualified but not selected
	SCHOL-		in Surveying and Mapping										(Hydrographic Surveying)	University College	
13	2021/0175	М	Sciences / UK /2011	2	10	4	1		61	17	3.59	_	MSc	London	
													Master of Science, International		Qualified but not selected
	SCHOL-		Bachelor of Political Study/										Development: Politics,	University of	
14	2021/0300	F	Australia / 2017	2	15	7			86	24	3.58	-	Governance and	Manchester	
															Qualified but not selected
	SCHOL-		Bachelor of Arts (Psychlogy) /										Masters in Clinical	University of	
		F	India / 2013	9	7	8	5		103	29	3.55	_	Psychology	Sussex	
															Qualified but not selected
			Bachelor of Commerce in												
	SCHOL-	_	Economics and Management		11	_	,		0.4	24	3.50		Economic Development	University of	
ΙΟ	2021/0288	F	/ Australia /2019	4	11	7	2		84	24	3.50	-	and Policy Analysis MSc	Nottingham	Qualified but not selected
			Bachelor of Business												Qualified but flot selected
	SCHOL-		(Banking and Finance) /											Lancaster	
17	2021/0278	F	Australia/ 2018	4	9	10	1		81	24	3.38	-	Finance MSc	university	
															Qualified but not selected
	SCHOL-		Bachelor of Laws (LLB)											University of	
18	2021/0298	F	Honours / UK / 2019		11	5			54	16	3.38	-	MSc in Law and Finance	Oxford	

			Bachelor of Arts in Political												Qualified but not selected
	SCHOL- 2021/0290	F	Science and International Relations / Maldives / 2019		14	7	3		73	24	3.04	_	MA Corruption and Governance	University of Sussex	
															Qualified but not selected
	SCHOL- 2021/0295	F	Bachelor of Environmental Management / Maldives /2018	1	12	9	3		75	25	3.00	-		University of South Wales	
			Bachelor of Arts in												Qualified but not selected
21	SCHOL- 2021/0275		Architectural Design / Maldives / 2019	4	11	8	9	0	93	32	2.91	-	Sustainable Architecture and Healthy Buildings	University of Derby	
22	SCHOL- 2021/0266	М	Bacelor of Arts Accounting and Finance / UK / 2018	5	9	9	9		93	32	2.91	-	ACCA + Master in Finance and Investments	London School of Business & Finance	Qualified but not selected
															Qualified but not selected
23	SCHOL- 2021/0283	F	Bachelor of Environmental Management / Maldives / 2018	2	8	13	2	0	72	25	2.88	-	MSc Sustainable Aquaculture	University of Stirling	
24	SCHOL- 2021/0272	_	Bachelor of Arts and Scoial	3	7	10	4	1	70	25	2.80		MSc International Relations	The London school of Economics and Political Science	Qualified but not selected
24	2021/02/2	Г	Sciences / Malaysia / 2019	3	/	10	4	1	70	25	2.80	-	Relations	Political Science	Qualified but not selected
	SCHOL- 2021/0296	М	Bachelor of Technology (Civil Engineering) India /2014	13	8	9	27	1	155	58	2.67	-		University of Plymouth	
26	SCHOL- 2021/0271	l	Bachelor of Science with Honours in Psychology / Sri Lanka / 2018		10	12	6		70	28	2.50	_	MSc Clinical Child Psychology	Anglia Ruskin University	Qualified but not selected
20	2021/02/1	•	Bachelor of Arts in English		10	12	-		70	20	2.50		ТЗуспоюду	Oniversity	Qualified but not selected
	SCHOL- 2021/0268	F	Language and Communication / MIdives / 2019		6	11	7		53	24	2.21	-	MSc Project Management	University of Reading	
28	SCHOL- 2021/0308	М	Bachelor of Enviornmental Management / Maldives /2020	2	2	9	12	1	50	26	1.92	-	•	Birkbeck University of London	Qualified but not selected
	SCHOL- 2021/0226	F	Bachelor of Economics/ Bachelor of Education / Australia / 2016			13					1.83		J	Manchester Metropolitan University	Qualified but not selected
	SCHOL- 2021/0276	F	MBBS/ Russia / 2004	1		16					1.75		Master of Science(Clin)Oral and Maxillofacial Surgery	University Of Manchester	Qualified but not selected
50		<u> </u>		-	3	10	33		103	30	1.73			andrester	Qualified but not selected
	SCHOL- 2021/0299	F	Bachelor of Teaching Early Childhood Education / Madlives /2017		2	7	15		37	24	1.54	-	MA Early Childhood Education	University of Hertfordshire	

Disqualified

Disqualified					
				London School of Economics and Political Science,	Full Transcript not submitted
SCHOL-			MSc Human Resources	University of	
1 2021/0171		_	and Organisations	London:	
SCHOL- 2 2021/0172		-	Masters in Business Administration	University of Wolverhampton	Bachelors Certificate not validated by MQA. Full Transcript not submitted Bachelors Certificate not validated by
SCHOL- 3 2021/0181		-	Forensic and Archeological Science	University of Kent	MQA. Service duration not completed after government aid. Work Experience letter after highest qualifications not submitted.
SCHOL- 4 2021/0187		-	Master of Science Project Management	University of Bedfordshire	Bachelors Certificate not submitted Transcript not submitted
SCHOL- 5 2021/0273			Masters in International Relations	University of Leeds	Service duration not completed after receiving government aid (First Degree)
SCHOL- 6 2021/0274		-	MSc Environmental Management	Bristol, University of the West of England	ID Card copy not clear
SCHOL- 7 2021/0279		-	Cellular and Molecular Medicine	University of Bristol	Bachelors Certificate not validated by MQA Work Experience letter after highest qualifications not submitted.
SCHOL- 8 2021/0280		-	General Structural Engineering		Student loan overdue payments. Student/quarantors letter not submitted regarding student loan repayment. Service duration not completed after receiving government aid.
SCHOL- 9 2021/0281		-	LLM Law	University of London	Bachelors Certificate not validated by MQA
SCHOL- 10 2021/0302		_	Special Educational Needs	Queen's University Belfast	Bachelors Certificate not validated by MQA

							Service duration not completed after
11	SCHOL- 2021/0303	F		-	MA Digital Sociology	Univeristy of Edinburugh	government aid (Studied under ICCR)
							Service duration not completed after
12	SCHOL- 2021/0304	М		-	Construction Economics and Management MSc	University College London	government aid (Studied under ICCR)
13	SCHOL- 2021/0222	М		-	MSc Housing and City Planning	THE BARTLETT SCHOOL OF PLANNING	Bachelors Certificate not validated by MQA Already has a Masters Degree
14	SCHOL- 2021/0306	F		-	Masters in International Relations	University of Manchester	Bachelors Certificate not validated by MQA Transcript illegible
15	SCHOL- 2021/0292	F		-	Masters in Business Administration	Staffordshire Business School	Service duration not completed after receiving government aid Work Experience letters after highest qualification not submitted Applied course is not funded under this scheme
16	SCHOL- 2021/0293	F		-	MSc Environmental Science and Management	University of York	Service duration not completed after government aid
17	SCHOL- 2021/0294	М		-	MSc Coastal Engineering	University of Plymouth	Bachelors Certificate not validated by MQA
18	SCHOL- 2021/0291	М		-	International Tourism and Aviation Management (MA)	University of West London	Work Experience letters after highest qualification not submitted
19	SCHOL- 2021/0289	М		-	MSc Sustainable Environmental Management	University of Plymouth	Bachelors Certificate not validated by MQA
20	SCHOL- 2021/0252	F		-	MSc Clinical Psychology		Work Experience letters after highest qualification not submitted Service duration not completed after government aid. Selected for Feb 2020 Loan Scheme
21	SCHOL- 2021/0253	F		-	MSc Economics and Public Policy	University of York	Bachelors Certificate not submitted Transcript not submitted
22	SCHOL- 2021/0257	F		-	Management and Sustainable Tourism MSc	University of Glasgow	Selected for Feb 2020 Loan Scheme
23	SCHOL- 2021/0259	М		-	MSc Economics for Business Intelligence and Systems	University of Bath	Bachelors Certificate not validated by MQA
24	SCHOL- 2021/0264	F		-	Special and Inclusive Education MA	University of Nottingham,	Selected for Mental Health and Learning Disabilities Scholarship

	,				 				1	
										Full Transcript not submitted
										Work Experience letter after highest
	SCHOL-							Masters in Inclusive	The University of	qualifications not submitted
25	2021/0265	F					-	Education	Edingburg	·
										Bachelors Certificate not validated by
									University of	MQA.
									Manchester	Service duration not completed after
									Alliances	government aid.
	SCHOL-							Masters (MSc) in	Manchester	
26	2021/0267	Μ					-	Accounting and Finance	Business School	
	coulor									Bachelors Certificate not validated by
	SCHOL-							Engineering Business	University of	MQA.
27	2021/0286	М		1			-	Management MSc	Sussex	
										Bachelors certificate not submitted
										Transcricpt not submitted
										Service duration not completed after
										government aid
										Official Work experience letters/own
	SCHOL-							Floatronic and Committee		letter not submitted
								Electronic and Computer	Hairmaite af Kant	
28	2021/0285	М		+			-	Engineering	University of Kent	
	SCHOL-							Master of Business	University of the	Applied Course is not funded under
29	2021/0269	М						Administration (MBA)	West of England	this scheme